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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine of half (9
1

2
) marks each. Learners 

are required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS ¼9
1

2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. With the help of labelled diagrams, explain the life 

cycle of Equisetum. 

bDohflVe ds thou pØ dk o.kZu ukekafdr fp=ksa dh 

lgk;rk ls dhft,A 

2. Write short notes on any two of the following : 

(a) Fossil gymnosperms 

(b) External features of Marselia plant 

(c) Prothallus 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ thok’eh ftEuksLieZl~ 

¼c½ ekflZfy;k ds ikS/ks dh cká lajpuk ds y{k.k 

¼l½ izksFkSyl 

3. Give only diagrammatic representation of the life cycle 

of Pinus (description not required). 

ikbul ds thou pØ dks fp=ksa dh lgk;rk ls n’kkZb;s 

¼o.kZu dh vko’;drk ugha gS½A 

4. Write short notes on any two of the following : 

(a) Strobilus of Selaginella 

(b) Distinguishing features of Gymnosperms 

(c) Ovule of Cycas 
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fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ flySftuSyk dk ‘kadq 

¼c½ ftEuksLieZZl~ ds yk{kf.kd xq.k 

¼l½ lkbdl dk chtk.M 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. T. S. of Pinus needle. (diagram only) 

ikbul fufMy dh vuqizLFk dkV dk dsoy fp=A 

2. T. S. of Selaginella stem (diagram only). 

flySftuSyk ds rus dh vuqizLFk dkV dk dsoy fp=A 

3. Compression and impression type of fossil. 

laihMk’e rFkk eqnzkthok’e izdkj ds thok’eA 

4. Economic importance of pteridophyta. 

VSfjMksQkbVk dk vkfFkZd egRoA 

5. Dwarf shoot of Pinus. 

ikbul dh ckSuh ‘kk[kkA 
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6. Differentiate between male and female Cone of Pinus. 

ikbul ds uj o eknk ‘kadqvksa esa vUrjA 

7. Reproduction in Selaginella. 

flysftuSyk esa tuu fof/kA 

8. Distribution of Cycas and Pinus. 

lkbdl rFkk ikbul dk forj.kA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half (
1

2
) mark each. All the questions of 

this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼
1

2
½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. If all the spores are of same size and shape, the plant is 

said to be : 

(a) Heterosporous 

(b) Homosporous 

(c) Both (a) and (b) 

(d) None of the above 



 [ 5 ] S-618 

 (A-28)    P. T. O. 

;fn lHkh chtk.kq ,d gh eki o vkd`fr ds gksrs gSa] rks ikS/kk 

dgykrk gS % 

¼v½ fo”kechtk.kqd 

¼c½ lechtk.kqd 

¼l½ ¼v½ rFkk ¼c½ nksuksa  

¼n½ mi;qZDr esa ls dksbZ ugha 

2. The characters not found in Gymnosperm : 

(a) They do not produce fruits 

(b) They are slow growing plants 

(c) They are xerophytic plants 

(d) They undergo double fertilization 

ftEuksLieZ esa ugha ik;k tkus okyk y{k.k gS % 

¼v½ ;g Qy ugha iSnk djrs gSaA 

¼c½ ;g /kheh xfr ls mxus okys ikS/ks gSaA 

¼l½ ;g e#n~fHkn ikni gSA 

¼n½ ;g f}fu”kspu dh izfØ;k djrs gSaA 

3. Seed ferns are : 

(a) Fossil Gymnosperms 

(b) Fossil Pteridophytes 

(c) True Ferns 

(d) None of the above 

lhM ¼cht½ QuZ gS % 

¼v½ thok’eh ftEuksLieZ 

¼c½ thok’eh VSfjMksQkbVk 

¼l½ lR; QuZ 

¼n½ mi;qZDr esa ls dksbZ ugha 
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4. “Water Fern” is the common name of : 

(a) Selaginella 

(b) Equisetum 

(c) Pteridium  

(d) Marsilea 

ßokVj QuZÞ lkekU; uke gS % 

¼v½ flySftuSyk dk 

¼c½ bDohlhVe dk 

¼l½ VSfjfM;e dk 

¼n½ ekflZfy;k dk 

5. Coralloid roots are found in : 

(a) Pinus 

(b) Cycas 

(c) Ephedra 

(d) Taxus 

dksjsykbM tM+sa ikbZ tkrh gS % 

¼v½ ikbul esa 

¼c½ lkbdl esa 

¼l½ bfQMªk esa 

¼n½ VSDll esa 

Indicate whether the following are True or False : 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR; % 

6. Silica is deposited on the stems of Equisetum.  

     (True/False) 

bDohflVe ds rus esa flfydk dk teko gksrk gSA  

    ¼lR;@vlR;½ 
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7. Cycas is a living fossil. (True/False) 

lkbdl ,d thfor thok’e gSA  ¼lR;@vlR;½ 

8. Pinus is known as „Sago-palm‟. (True/False) 

ikbul dks ^lkxks&ike* ds uke ls tkuk tkrk gSA  

    ¼lR;@vlR;½ 

9. Ligule is found in Selaginella. (True/False) 

flySftuSyk esa fyX;wy ik;k tkrk gSA  ¼lR;@vlR;½ 

10. Elaters are found in Equisetum. (True/False) 

bDohflVe esa bysVj ik;s tkrs gSaA  ¼lR;@vlR;½ 
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